SOLVED MODEL TEST PAPER

CLASS: 12th (Sr. Secondary) Code: A

Roll No:

PHYSICAL EDUCATION
[Hindi and English Medium]
ACADEMIC

[Time allowed: 3 hours] [Maximum
Marks: 60]

Y HHIE1 I 15 RIAS UFR & U g, T Ud® U T 3@ w1 g | Uy
HHIB 16 T 21 3Ifd T STRIT U § (U W= 16 T 174 3fialke [Adhed & Iq1Y)
RT3 A TS UN Gl 3P BT R | YN PHIB 22 J27 T STRTUN T (I T
229 23  3ffdRe famed & A1) o8 O TS Uy <iF 3fh 1§ | U HHiD
28 30 dF SWA U &, (T Uy 3 fadwed & Y ) IS Uy Ui 3
HIg

GENERAL INSTRUCTIONS: -

*Question no. 1 to 15 are objective type questions carrying 1 mark each.
*Question no. 16 to 21 are Very Short answer type questions (with internal
Choice in question no. 16 and 17) carrying 2 marks each.
*Question no. 22 to 27 are Short answer type questions (with internal choice in
question no. 22 and 23) carrying 3 marks each.
*Question no. 28 to 30 are Long answer type questions (with internal
Choice in all three questions) carrying 5 marks each.



SECTION-A
(OBJECTIVE TYPE QUESTIONS)

U%-1. 10 AT & TP T g-tHe A fraa A @ wmeat?
() 44 () 45
@) 46 () 47

3xR: (W) 45

How many matches will be played in a league tournament of 10 teams?
(@) 44 (b) 45
(c) 46 (d) 47

Ans: (b) 45

Yy -2. widaw ufkreror fafyr fore 3= & fawfya g7
(@) WeT (@) @R (1) YR (9) 3ds
ST () Wi

Qn: 2 Fartlek training method was developed in :
(a) Sweden (b) The USA (c) India (d) England.

Ans: (a) Sweden

WY 3. e & diax frau ) W wgd § |
(@) STear &1 Fge (@) foear ufafear &1 g

@ Tas e @) d9d &1 g



IR = (@) forar ufafeear &1 Faw

Qn: 3 The Newton’s third law of motion is also known as
(a) Law of inertia (b) Law of action and reaction
(c) Law of momentum (d) Boyle'’s law

ANS = (b) Law of action and reaction

Uy 4. g PR & afedd ardt AT F AT I§T TS B &2

@) Siqyd! (M) SHTgE!

(@) sfege (@) T A B T8l

IR = %) sfayat

Qn: 4 Which type of personality people like to live alone?

a) Introvert  b) Extrovert c) Ambivert d) None of the above

ANS = a) Introvert
Y -5. T4 WS Td F9 JRE §U?
() 1960 (M) 1985
() 1964  (Y) 1990
3R : (P) 1960
QN.5: When did the first Paralympics Games start?
(a) 1960 (b) 1985
(c) 1964 (d) 1990
Ans: (a) 1960
Y -6. AYAT I fHe i1 A TH&Efia 32
(8) BT (b) T (o) UfhaTSl (d) FerwAmT



SW: () AfepaT

QN.6: To which organ Diabetes is related: -
(a) Heart (b) Kidney (c) Pancreas (d) Brain

Ans: (c) Pancreas

U4 7. SPREAAIT RIS (e )BT S |
I =3¢
Meaning of Ustra in Ustrasana is (............. )

Ans : Camel

Qn:8 =Sprain is the injury of (................ )
Ans: Ligament

UY 10. Bt MFRY-HIT A B9 yHIfad giar 82
SWR=cH T T HHIY & 9= |

Qn.10 Who is affected by Green Stick Fracture?
Ans: Children younger than ten years old.



Y-11. SHIARIS WA $9 L& g2
31iR:1924

QN.11:_ When did the Deaflympics games start?
Ans: 1924

Y -12. ATSAT AedTd frd Bd & TR 22

IR defiieq

QN.12:_ To which sport Saina Nehwal is related?
Ans: Badminton

(SMfUB YT/ BRUT (ASSERTION/ REASONING)

T @t Fya R MW & | TP F fUBYT (A) 3R G B PRI (R) F FU A
E'R’IquTI'CIT% I Hﬁ$ﬂq§[ﬁ1‘<’ | There are two statements which are stated below
and labelled as Assertion (A) and Reasoning (R). Choose the correct answer.

Y -13 SFUBY (A) - FATB-1o TP Ma- I fapfa g |
PRI (R) -ATp-A1oT A e MU A THAA ¢ |

I -

(@) SHTUHYUT (A) el § A BRI (R) AT G |

(@) HBYT (A) TAdE  AfbT BRI (R) TEI § |
m(A)GﬁT(R)Eﬁrﬂ%T%GﬁT(R) (A) & Jg! ARST HAT 8 |

@) (A) 3R (R) T Tgl & AfPB (R): (A) P! Tg) URSAT Ta B |

STW: (W) (A) 3R (R) G T & 3R (R); (A) Bt T RS AT & |




Q.13 (A) ASSERTION: Knock-knees is a postural deformity.
(R) REASON: Both knees collide with each other in knock-knees.

Ans: Select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is correct explanation of (A)

(d) (A) and (R) both are right and (R) is not correct explanation of (A)

Ans: (c) (A) and (R) both are right but (R) is correct explanation of (A)

Y 14. AfHBYT (A): AP I I yfeor g ¥ e 9818 |

PRI (R): ST URIEOT AT & 10 -12 e anfar gid &
Iuer Pl &b YR R gl [debed gAT |

3TN —

(@) SHHBYT (A) TG § Afch PRI (R) AT & |

(@) MYHYUT (A) TAd 8 Afded HRUT (R) Tal g |
WA)G?IT(R)aﬁﬂﬁr%eﬁv(R) (A) B! TG IS HAT G |

@) (A) 3R (R) gHI %W(R) (A) ! TgT RS gl BT |
STR: () SHTHBHYUT (A) e B <ifch DRUT (R) TTerel © |

14. ASSERTION (A): Macro Cycle is the largest of all training cycles.
REASON (R): It includes only 10-12 days of training plan.

Ans: select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is correct explanation of (A)

(d) (A) and (R) both are right and (R) is not correct explanation of (A)

Ans: (a) (A) is right but (R) is wrong



Y -15 MfUFYA (A) - A=Y SagedT 9@ =i CWSN # 6 Tl BI 3
evdl & 91Y-91Y faRy oevd ot gl & |

SR (R) -  FFET -HTUTS, THHTHS q4T HIETAS $0 N &) Tpdt & 1

ol famed g |

(@) 3fYBUT (A) TEI & b BRU (R) Teld & |

@) 3BUT (A) TAd & A BRI (R) TEI 2 |

M (A) 3R (R) TH T8 § 3R (R); (A) P J&| RS IRAT @ |

@) (A) 3R (R) I &) € &b (R): (A) B T SRSAT &} bl |

STR: (M) (A) 3R (R) G "I 7 3R (R); (A) P W AT TRAT S |

Q.15 (A) ASSERTION: Some children among CW SN have special needs along
with common needs.

(R) REASON: These needs can be linguistic, cognitive and emotional.

Ans: select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)

(d) (A) and (R) both are right and (R) is correct explanation of (A)

Ans: (c) (A) and (R) both are right but (R) is not correct explanation of (A)

SECTION-B
(VERY SHORT ANSWER TYPE QUESTIONS)

UY-16 UTUfAe fRIfesa =R v Ale fafau |



IR = Uy ifea: ol SR a1 gra safad &1 Hafid R g o
B T Ugd Tl T3 UTAHIC SEHTA a1 SUIR WTdfies fafdrad (First Aid) wed
g1 3TBT I HH T HH igAl H a1 STaRIT HAT 8idT & b AU afad B
JRh AT B B (YT T A & T dred 999 T Y Y HH JH A 8l |

QN.16: Write a short note on First-Aid.

Answer: First aid is the first and immediate assistance given to any person with
either a minor or serious illness or injury, to preserve life, prevent the condition
from worsening, or to promote recovery until medical services arrive. The aims
of first aid include preserving life, preventing injury from getting worse, aiding
recovery, relieving pain, and protecting the unconscious.

{(AYdT (OR)}
UY-16(31yan): fafus @< ufneror awpi &1 9 fef@u |

IR 16(3MYaT) - URR1ev1 =6 T AfYa guaafy § GuR fear a1 srieH g1 31t
3R S ufaaifrarstt ar gAmel & suféra uRome ure o= o g Ad Uiieor &t
AT §975 STt o1 IR0 I 39 Iug dar & Hiak fafw ufieor aat o
TS HRAT B |

OfR1er07 i SreT-3rerT Iehl § SfoTd fovan ST o &:
1. A I 3(AfY 3-12 UM &1 |
2. B! Uep; Al 3-6 G HI |
3. & I5h: 3(dfY 5-10 fa 1

QN: 16/0R: Name different sports training cycles.

Ans: Sports training is planned to achieve the expected results in small and
major competitions or tournaments. The training can be organised in three
different cycles:

1. Macro cycle: having duration of 3-12 months.



2. Meso cycle: of 3-6 weeks.

3. Micro cycle: of 5-10 days.

UY-17: FATHT a1 USieor & Ie=a ad fafy e
IR -

TV BT SET: Th R TR AHAAYGD e S P &HAT BT e Bl
|

Ufehdr: S IARIR 17 R W 7l S| URed &1 Y Thad Jgad &Y
TG | TEETE TR IR e §91d IHY, Jad IR B g IR AreT ol § SR 3T W B
R & (el & ST @1 Sl g1 S &1 UIRI&H O ¢, g8l J[E DRl g IR od
fad Agad @ ¢ (@ df &7 ¥ R 9T a1 Udhs T R &l BIS <) df WIuad §q
B | Sd db d Hgad 7 @I ¢ q9 T QORI, IHT Y YT B | HJerd & 60
Tdre ¥ IR &1 T@& | afe ugd 30 ¥de | 15 F 81t IR fRm@e gt 8, a@f
ORIEUT FHT R T STl 3 SR A i f&ar Sira g

QN.17: Write down the objectives and administration of the Flamingo
test.

Answer:

Objectives: The Flamingo balance test is a total body balance test in order to
test static balance. This test assesses the strength of the leg, pelvic, and trunk
muscle. The Flamingo balance test is a test to determine how well you can stand
on one leg.



Steps: Stand on the balance beam with your preferred leg. Take the instep of
your other foot and pull this towards your buttock. With your other arm you can
try to find your balance. Try to keep this position for as long as possible. The
time starts to run again once you have regained your balance. Write down the
number of mistakes you make within one minute. If more than fifteen mistakes
are made within one minute, the test stops and score is recorded as zero.

Y- 17(3MYdT): Tga- & fafia e R SH-P 9 82

SR 17(3AYAT):  IJod IRR A iy @vur 7 a1 fe=n & @iz aRad T8 3t
YT B | I & Y UPR B .-

1) Wi Jgaq:Rfae g ¥ dd TRR & R 1 706 8 9 ]

2) =it g TfaRiia g ¥ dad ddfad ar] iR Jed §d gRT [AiHd
3rqfeafdd @rur & Y i § ;R A B

Qn: 17/OR What are different types of equilibrium?

Answer: Equilibrium is a state of body where neither the internal energy nor
the motion of the body changes with respect to time.

1) Static equilibrium: Static equilibrium is a state where bodies are at rest.

2) Dynamic equilibrium: Dynamic equilibrium is a state where bodies are
moving at a constant velocity (rectilinear motion).

UY -18. ISIH & Dl &l aTH ffag |
IR —1. Yo 7= H e Hdl § 3R Pesl I Aqgd SdT § IT Al g

2. TN B I Ufedd T ! Aol a1 5 |

Qn: -18. Explain any two benefits of Vajrasana. (1+1)
Ans: 1. This asana improves digestion. This is the only asana which can be



practiced right after having food.
2. Vajrasana strengthens the lower back and pelvic floor muscles

Y 19. gAaHe & IR axa® JfAfaal S gt F131 |

List down the important committees during tournament.
JdR:

1) TSI Al |

2) fa1 Tfarfa

3) TR il

4) dh-ioh! IiHfd |

5) TINTd T |

6) 31 FAfd

7) uRRdg ifdl

8) STeTgT Gt |

9) hd FH(d |

10) T 3R TSGR AR |

Answer: 19

List of the important committees during tournament.

1) Organising committee.

2) Finance committee.

3) Publicity committee.

4) Technical committee.

5) Reception committee.

6) Accommodation committee.
7) Transport committee.

8) Refreshment committee.

9) Purchase committee.

10) Awards & prizes committee.



UY-20 JH-fad ot ufehar &1 quid &30 | 39 BIs o a1y faf@e |
SR: ra-faaiy t uitear:

USRI T SHd &l § o6 .30 Glfe 814 & 3RS I 3{UAT Glfg-l ATRIDT B §g
B 3R T SATHDBT DI R T U TR ATRIDT TR I 370+ &7 AT § diR-
¢V I o TP IR 919 3Udh Bhhs HR SMY, df U &1 ANl &l §¢ B ol
Tt SR BT Wb U Hi Achepx T 37Ut ST ATRIT sia BR 3R R I SO
STST IS I3(UAT Glfe-T IRIDT ¥ I Bis 13§ G AIRI®l ¥ 99 dd gu 3R
ST A1RYT ¥ i Bled gU @Rl 5-10 Pl Gl |

IA-fady & a1y:
1. hope QfaT=metl 81d B

2. q19 3R fiar B HH BT B |
3. R IRR A Y 3T 1 3Mgf sgran 3

QN.20: Explain the process of Anulom-Vilom. Write any three benefits of it.
Answer: Process of Anulom-Vilom:-

1. Fold your right hand's middle and index fingers toward the palm.

2. Place your thumb in the right nostril and the ring finger in the left.

3. Close your right nostril using your thumb and inhale slowly and deeply with
your left nostril until your lungs are full.

4. Then, with your ring finger, close your left nostril and release your thumb.

Slowly exhale through the right nostril.

6. Do it backward, inhaling through the right nostril and expelling through the
left.

b

Benefits of Anulom-Vilom:

1. Improves lung strength.

2. It helps to manage stress and depression.

3 It improves blood and oxygen flow in the body.



uy-21 d&q -fAuiRor R v dféra e fafau

SR: &d FAURon: o(u wedl & oredt e WY b I BIC BIC U H die
3R TR 3 9] & UTd B3 & [T THG & 1Y JoHTaG of1 Y B B DI
T ST Aed YR Sgardr § | 91ed-FuRo Wa AR &1 Uh Jayd g
g Sl forddl! Tyelie & TR &I SI%! dgl Tl 8 | T, AUl 3R U &R
g1y ded Fufia o, Tydiic Iwad & T T JSHY &1 I ©, IROT &
HTABAH TR Thd € 3R JHY Y= H GUR IR Iahd & |

3MTH! HfTT & IR H JUA - & IOl 304 980 W 14 dbfad B Pt ISl
M DT AT <1 g1 d&T Fufivd F31 ¥ oMA-TAYMT SR STAfayTT &t HiaHT
Wt gl 81 S-OIY YTl 3Uq 3ifaH @& & IRA | BIe-JIe Hid & TR g
P §, STH SUATST DI UGS¢l &

QN.21: Write a short note on Goal setting.

Ans: Goal Setting: When you set goals, you identify what you want to achieve
and what you need to do to achieve it. It motivates you to take action, whether
it's in your personal or professional life, and gives you a sense of control over
your future.

Goal setting can be one of the most important skills to teach athletes in order
to help them optimize their performance. It can help them focus on what is
important and give them a sense of control and positive self-direction. SMART
goals can help athletes gain confidence and believe in their ability to succeed.

(SECTION-C)
(SHORT ANSWER TYPE QUESTIONS)




Y 22 (B.M.1.) ¥ 3ATIHT AT AFHUTT 82 63 fHaium o9 3R 170 AR
GTg aTel e Bt df TH 3MTS (B.M.1.) B TUMFT ST |

¥ 22 =dl. T, 3fTS. : B.M.I. = Body Mass Index

deHeng (BMI) T STSl A9 S99, A 9dTdT & & 3UP IRR FT aoi 3MUS! das &
3[R 31 € I7 51| Th aRE U U 3D IRR DI qdTg AR Il &1 JUTd Hel ol
Tl ¢ | TPIHRUT: [ Sfad BT IRR SHHH FaH® ao R SHams & AHd J IRR
o HieTar GRITdT 8 | I8 fad &1 [afia ao & SR ailied SRl ¢

BMI & oY I = T9H (kg) + (T8 x $dTs) m2 (kg/m2.)

(B.M..) &1 TUMFT: 63+1.7X1.7
=63+2.89 =21.7

gfe BMI &1 AT 18 ¥ HH W, ) go IHG ¥ HH g1 I BMI P AT 18.5 T 24.9 F
ST 3MMW, df 3MTYPT go- IMHEF g1 Ifc BMI &1 AT 24.9 I STET 34, d 37 AW &
RIPR 1 3P HRUIBIC TSoiel, IR, S 1 Ulsad Bl Tball 5|

Qn: 22 What do you mean by B.M.l.? Calculate the BMI of a person with
mass of 63 Kgs and height 170 cms.

Answer: B.M.l. = Body Mass Index .BMI is a weight-to-height ratio that
measures a person's weight. The BMI is measured by multiplying the body
mass by the square of the body height and is expressed in kilograms per
square meter (kg/m2). In broad terms, a BMI of under 18.5 places you in the
underweight category and between 18.5 to 24.9 you are deemed normal. Above
24.9 you are counted as overweight.

Formula to calculate BMI = Mass (kg) + (Height x Height) m2 (kg/m2.)

Calculation of B.M.I =
63+1.7X1.7

=_63

1.7X1.7

=63+2.89 =21.7



Y 22 (3YAT} TTs (SAl) fheg e F MUR W 9 T 18 a8 & §= & folT HA -
HIF Y ¢ IS fohT o € 2 Tl U i fafdr forfae |

JTR: T3 (SAl) heAg ae & AMYR TR 9 T 18 TV o F=d| o [o7E ftheq oxe
1) ARG AT URIE(0T — &1L.TH. 3.

2) T 50 Hex IS |

3) TgI&HdT: 600 HieR ISl

4. AT URIE0T - df e 9 ¢

5. (US/PHR diehd) HIGURRI &t diehd BT RIS - 3R Hdi-370- YRI-37R |
NECACANY

6. TN gRI-31 (@sfpal & fam)

6. WIST §i1s T

AP FHed-317 Bt I

JERT: Hal-3U TR UT Bt diehd 3R g-IRIad ! AUl g, off 4T & JaL=
3R HR R & forg Ayl B

3ITITID SUBI: Ueb JUIC, 1, TEER dg, Repifet e, U 3R ub A
@1 TS BIed, )| 1-37-3 b e dld Jrds Ry |

ufehar :
1. 3R Hel U UR&0T & Ugd °R01 H, T AHfad Pl 3MUD Gl Dl ASHR 3R
m&mﬁﬁm%ﬁﬁwﬁﬁﬁwwﬁ@amﬁ%%wéﬂ

|




2. 319, 3Mqeh TR fasdlt off < IR feoh §U 18T 81 A1y, 3R 37U &1l &l il |

fewhTd §U g |

3. 3§ U RR P dewy fyfa & 79| faw i, el 71fq & 99 I g@ e 8
e d fob fad & 8 HTaq 9 &l 9 FWR 9 81 oY, 3R fihr UieT A 9 81 S|

4. 3§, T A Y e o 91 U WUl dal 3 a1 STa €, 3R 98 I a9 b
SIBRIT STl & Sd db Afad U el SITdT| Igd! a1 e fufa A His Sobrde 7ol
BIHT A1RY; Hei-370 fRUR I8 11T, U IR JHY T g1 dle T

DI
3{fRIH el U BT DI §1H & [0 $© 9141 T & @1 STl |

. URYH THg 1 o iR 91 &1 ¥ Ul fhU U $d dl 30 A T ¢ G | 51
Hfad 1 RR I8 IR a9 AT g, Al ®dl 30 I 81 SI1dl § | Hal-3U Pt
3{IHd &HdT 75 B

. gic PIs Afed =M & 1Y Guch 81 91 bl g T AU S Bl B T 2 7
W T8l IoT bl g, dl A1 STd IHT 3P HY IeTs IR J&d el giil|

. 3P Hel-3 TLel F oiE Tb 3R SR PR Bt A T8I 81 ISP
IRIGR R TIfd FRR 3R TG giH1 A1eT, iR RR &1 9er IR ary 3l g T
. OF B & U &l YR §Id &, < URI&T JHI g1 St g |

QN.22(OR): Make a table of test items listed under fitness test by SAIl (age
group 9-18 years) Explain the administration of any one of them.

Answer:
List of test items listed under fitness test by SAl (age group 9-18 years)

1 Body Composition: BMI (Body Mass Index)

2. Speed: 50 mtr. Dash



3. Cardiovascular Endurance (600 Meter Run/Walk)

4. Flexibility: Sit & Reach flexibility test,

5. Strength: (a). Abdominal (Partial Curl-up)

(b). Muscular Endurance (Push Ups for Boys, Modified Push Ups for Girls)
6. Modified Push-Ups for girls)

7. Standing Long Jump

ABDOMINAL (PARTIAL CURL-UP)

Procedure: The subject lies on a cushioned, flat, clean surface with knees flexed,
usually at 90 degrees, with hands straight on the sides (palms facing
downwards) closer to the ground, parallel to the body. The subject raises the
trunk in a smooth motion, keeping the arms in position, curling up the desired
amount (at least 6 inches above/along the ground towards the parallel strip).
The trunk is lowered back to the floor so that the shoulder blades or upper back
touch the floor. Scoring: Record the maximum number of Curl ups in a certain
time period (30 seconds).

wY-23 M Sath fapfoal & getas S ok 5l IR & e fafae
I

IR 23 fafid s ddeh fawfadl 9 UeR &

1. M- - 9l ged, O S 9@ & 98 ¥ W} S 91§, U6 ga1 geeh
ﬁ@%%mﬁﬁ?&mﬁsﬁvﬁé@ﬁ%@?aﬁma@wqﬁ&mﬁ
THRIA G|

2. e - Ml S B GaT Haefh fIpfcr forg e Ml gid & Sk HHl-pdt e
ﬁ@?ﬂ%@ﬁﬁw@%ﬁaﬂ%aﬁeﬁ?éﬁﬁméﬁ%ﬁﬁaﬁ?au%wﬁ
EICIECIGI



3. M (@ dT): (@1 S 9vH) d9 BidT & ofd UR geAl R §18R Bl 3R
ged g'wq%ﬁﬁwﬁWW%lﬁQﬁﬁiaﬁ%a?aqﬁe g U BId
gl pH-mt, 98 9= Wt T A B

4. 99 W (W Pe): gl 3R aa%h] § UTs ST arel! qey 3TH Jarsfi § 9
UH & Tkic e aTel ARl o UR H 3fTd ATHR § & gidl & a1 U afed &1 IR Ol
R STHH &I Bl &1 U IIHM & G, YR H 20 ¥ 25 BRI Al &1 R
e e gidl o

5 AISIRI : 59 G @I g8l Begl d JWR, Ud & Fad BW ¥ 3R 3 3R
@ Y 31fd) g3 Sl B

6. BPIABINIY : 59 3¢ Ted & A, Td & S oW H d8 &t 3R (GH=
31f¥rep) g ot 21

%@?ﬁﬁ?ﬁm;wﬁgﬁ@wﬁ@m% TH-3HR q7 T-MHR Bl
|

Qn: 23 : Enlist postural deformities along with any of the four with
symptoms. (1+(1/2 x 4))

Ans: A number of postural deformities are either acquired (hereditary) or
created. Each deformity demands proper attention and specific treatment for
their correction. These deformities are

1. Knock Knee: Knock knee is a postural deformity in which both the knees
touch or overlap’each other in the normal standing position. Due to this
deformity, an individual usually faces difficulty during walking.

2. Flat Foot: It is a deformity of the feet. In this deformity, there is no arch in
the foot and the foot is completely flat. The individual faces problems in
standings walking, jumping and running.

3. Round Shoulder: It is a* postural deformity in which the shoulders are
drawn forward, the head is extended with the chin pointing forward.

4. Kyphosis: It is a deformity of the spine in which there is an increase or
exaggeration of a backward curve.



5. Bow Legs: Bow Legs: Itis a deformity just the reverse of the knock knee
position. In fact, if there is a wide gap between the knees, the deformity can be
observed easily when an individual walks or runs Lordosis: There is an
increased forward curvature in the lumbar region of the spine

6. Kyphosis :There is an increased backward curvature in the dorsal or upper
region of the spine

7. Scoliosis: The spine bends to the side abnormally, either to the right or left.

Y — 23 (3AYAT): Fee-Pe 3R AP -HIeT ' sarRe FIoTe 3R qar ra=h 59

fawfoal & gurRTae Iurg ot gy |
TR 23/ 3Ydl

1. 99¢ W (Wl Pe): g 3R aq%h] H UT5 ofH! aTell Jad STH Hwms) & 9
U® g1 Ui e a1a aln o R 3T AT ¥ 6 g1l g a1 U8 Jfad &1 IR G
IRE THH BT FaT g1 T HH & Halad, HRd H 20 J 25 Biae! A &1 IR
i B BIdl 6|

2. Ap-A1eT: - Fieh ger, SR S I1e™ & 9 ¥ ot SI1 STl ], o o waieht
faefa & forad TR 3far &t 3R 43 8Id & 3R Jad 1 qled IHT ge 3oy o
THRIA 3 |

Qn: 23 (OR) Explain ‘Flat Foot’ and ‘Knock Knees’ and also suggest corrective
measures for both postural deformities.



1. Flat Foot: It is a deformity of the feet. In this deformity, there is no arch in
the foot and the foot is completely flat. The individual faces problems in
standings walking, jumping and running.

2. Knock Knee: Knock knee is a postural deformity in which both the knees
touch or overlap’each other in the normal standing position. Due to this
deformity, an individual usually faces difficulty during walking

Corrective Measures for Knock Knee and Flat Foot

Following exercises can be performed as a remedy for Flat Foot deformity:

(i) Walking on heels.

(if) Walking on inner and outer side of feet.

(iii) Walking on toes.

(iv) To perform up and down the heels.

(v) Jumping on toes for some time.

(vi) To skip on rope.

(vii) To perform the yogic asana.




(ix) Standing on toes

(x) Picking small stone with toes and placing it a little far

(xi) Perform yogic asana like Tadasana (Tree posture), Vajrasana and Utkatasana (Chair posture).

Y 24 3Y-HIT FT § $HP USRI W TG H¥ | What do you mean by

Fracture? Discuss the types of Fractures.
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Answer: 24

A bone fracture is a crack or break in a bone. Bone fractures usually result from
a high force impact or stress. People with osteoporosis or bone cancer may

experience a fracture with very little impact.A bone fracture is a medical
condition where the continuity of the bone is broken. A break in the bone that
does not damage surrounding tissue or tear through the skin is known as a
closed fracture. On the other hand, one that damages surrounding skin and
penetrates the skin is known as a compound fracture or an open fracture.

Classification of Fracture:

1. Simple fracture: A fracture is simple when only the bone is broken with no
external injury to the skin.

2. Compound fracture: When the bone breaks causing injury to the blood
vessels, it is called a compound fracture.

3. Complicated fracture: When the bone comes through the skin, causing
injury to any internal organ, blood vessels, muscles etc. and a deep wound it is
called a complicated fracture.

4. Comminuted fracture: When the bone breaks into many pieces it is called
Comminuted fracture.



5. Greenstick fracture: The bone partly fractures on one side, but does not
break completely because the rest of the bone can bend. This is more common
among children, whose bones are softer and more elastic.®

6. Hairline fracture: A partial fracture of the bone. Sometimes this type of
fracture is harder to detect with routine X-rays.

7. Impacted fracture: When the bone is fractured, one fragment of bone goes
into another.

8. Longitudinal fracture: The break is along the length of the bone.
9. Oblique fracture: A fracture that is diagonal to a bone’s long axis.

10. Spiral fracture: A fracture where at least one part of the bone has been
twisted.

11. Compression (crush) fracture: Generally occurs in the spongy bone in the
spine. For example, the front portion of a vertebra in the spine may collapse
due to osteoporosis.

12. Stress fracture: More common among athletes. A bone breaks because of
repeated stresses and strains.
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QN.25: What do you mean by balanced diet? Write its importance in
sports.

Answer: A balanced diet contains an adequate amount of all the nutrients
required by the body to grow, remain healthy and be disease-free. In addition, a
healthy, balanced diet provides the necessary energy requirement, protects
against vitamin, mineral, and other nutritional deficiencies, and builds up
immunity.



. Carbohydrates - Carbohydrates provide you with energy.Protein - Protein
helps you build muscles and develops skin and hair. Fat - Healthy fats as fats
help you maintain your body temperature and help absorb fat-soluble vitamins
ADE&K.Vitamins - Vitamins work hard to keep our bodies functioning properly
and they help drive essential processes needed in our everyday lives.Minerals -
Minerals help release energy from the food you take and promote the growth
of organs. Some essential minerals are iron, calcium, potassium, iodine, and
sodium.Fibre - Fibre helps in digestion and also helps in lowering
your cholesterol levels and controlling sugar levels.Water - It hydrates your
body and is used in body functions.

Importance of Balanced Diet:

Good nutrition can enhance sporting performance.

A well-planned, nutritious diet should meet most of an athlete’s vitamin and
mineral needs, and provide enough protein to promote muscle growth and
repair.

Foods rich in unrefined carbohydrates, like wholegrain breads and cereals,
should form the basis of the diet.

Sports nutrition plans should be tailored to the individual athlete, and consider
their specific sport, goals, food preferences and practical challenges.

Meet the nutritional demands of the body and prevent malnutrition
Keep up energy levels and maintain normal body functions
Boost the immune system and optimise cell repair

Prevent Cardiovascular diseases, and some cancers
Strengthen bones, muscles, skin, teeth, and eyes.
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QN.26: Explain any three strategies to make physical activities accessible for
CWSN.

Answer:26: For CWSN, space should be approachable for people having
physical disability. The area for the physical activity should be limited. Space for
activities should be disturbance free (noise, heat, cold, texture of floor, audience
etc.) It is always better to start with indoor space.



# Strategies to make physical activities accessible for CWSN:

A) Fun activities for children with Autism: Craft activity is fun for everyone,
the opportunity to explore, colour, shape and sensory experiences can stimulate
attention and faster calmness.

B) Adaptive Physical Activity for Students with Cerebral Palsy: When
putting adaptions into place, the planning, equipment and environment for

physical education classes should be such that ensure enjoyment and success
for a child.

C) Selecting and Adapting toys and Games as per their Interest: An Adapted
toy, can provide children with disability the same play opportunities,
simplify the rules of the game and setting up the play environment.

D) Different Methods of Instructions: Teachers must adjust and vary their
approach based on the skills and unique learning needs. Instructions should be
focused on the abilities of each student. Teacher must accomodate many levels
of functioning and learning within each group of students.

E) Universal Design for learning: The universal design approach provides a
framework for creating instructional goals, methods, materials and assessment
that work for every one.

F) Consider different Approaches to Mobility: Making outdoor programs
accessible for disabled. Once you gain some regularity in getting children out in
green environments you will start seeing the results in their level of self-esteem
focus and participation in social settings.

G) Arranging Positive learning Environment: Children who have additional
needs often require the environment to be adopted to maximize their
participation in the planned manner.
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QN.27: Differentiate between Introvert and Extrovert personality?

Answer:
Introverts: - Introverts are shy, self conscious quit retiring interested in the own
thoughts and feelings, inclined to worry and easily upset.

Extroverts: - Extroverts are social, open frank, outgoing, eager to do thing
adaptable, not easily worried or embarrassed and willing to work with others.

1. Energy Source: While introverts draw energy from their inner world and
prefer solitude, extroverts gain energy from external stimuli and interaction
with others.

2. Social Interaction: Introverts prefer deeper conversations with a select few,
whereas extroverts enjoy lighter, frequent interactions with a broader circle.

3. Approach to Tasks: Introverts often focus on one task at a time, preferring
depth over breadth. Conversely, extroverts may juggle multiple tasks,
thriving on variety and action.

4. Reaction to Stimulation: Extroverts seek out situations with high
stimulation, while introverts prefer lower-stimulation environments.

5. Listening vs. Speaking: Introverts are generally good listeners and think
before they speak. Extroverts, on the other hand, often think while they
speak, sharing ideas freely.

6. Need for Solitude: An introvert needs solitude to recharge, whereas an

extrovert may feel depleted by too much alone time.



7. Risk-Taking: Extroverts are more likely to take risks and make quick
decisions, while introverts may take longer to make decisions,
contemplating the potential risks and outcomes.

8. Attention: Introverts tend to focus on details, leading to deep thought and
concentration. Extroverts are more attuned to the broad picture, easily
shifting attention between tasks.

9. Learning Style: Extroverts learn by doing and discussing, while introverts
learn through observation and reflection.

10. Conflict Resolution: Introverts often prefer to resolve conflicts by writing,

while extroverts prefer verbal engagement.
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Ans:-28

Total no matches = Total no of team -1 = 24-1 = 23.

Total no. round = 2x2x2x2x2 i.e. Digit 2 report 5 times = 5 rounds
So total no round = 5 round

Total team in upper half = Total no of teams =24/2= 12 teams
Total team in lower half = Total no of teams =24/2= 12 teams

As the total no of teams are more than 16 so we have to divide teams also in
quarter. Teams in each quarter: 24/4 = (Q=6) & R=0

Total No bye= next power of two-total no of team = 32-24 = 08 byes
Bye in upper half = 8/2 =4

Bye in lower half = 8/2 = 4
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QN.28/0R Explain Newton's laws of motion with examples.
Answer:

1. Newton'’s First Law of Motion Law of inertia: — This law states that a body
at rest will remain at rest and a body in motion will remain in motion at the
same speed and in the same direction till any external force is applied on it to
change that state. Application in sports. Example: In basketball, players on the
court must keep in mind about dribbling because the ball will continue to



bounce for some time if they lose control. If the ball bounces too far away from
the player, his or her team can lose possession.

2. Newton’s Second Law of Motion: This law states that the acceleration of
an object is directly proportional to the force producing it and inversely
proportional to its mass. Application in sports: Runners struggle while
stopping at the finish line because it requires a very sudden change in motion
(Shot-put throw).

F=mxa [Where F=Force, m = (Mass), a= (acceleration)]

3. Newton’'s Third Law of Motion: This law states that to every action, there is
always an equal and opposite reaction. Application in sports: While
swimming, the swimmer pushes the water backwards using his hands and thus
attains a forward push due to an equal and opposite reaction from the water.

There are many different types of forces in action in football. Newton developed
the Three Laws of Motion and all are applicable in football.

A. The Law of Inertia tells us that the football will remain at rest unless
someone or something moves it by a specific force. Once the ball leaves the
quarterback’'s hands, the first law tells us that if there are no other forces on the
ball, the ball would continue to travel in the same direction and with the same
speed until other forces affect its flight.

B.The second Law of Motion states that force on an object is equal to the mass
of the object multiplied by its acceleration. If we apply this law to a football, it
tells us that the amount that the ball accelerates depends on the force applied
by the quarterback and the mass of the ball.

F=mxa

Where F=Force, m = (Mass), a= (acceleration)



C. The Third Law of Motion states that for every force applied there is an equal
and opposite reaction force. An illustration of this might be when a player is
trying to catch a football from a very high kick. This slows down the ball so the
player can catch the football and bring it to rest.
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QN.29: What are the effects of exercises on muscular system?

Ans: There are about 650 muscles in our body and each one helps us in
producing a movement. Physical exercise training particularly resistance or
weight training affects our muscular system to a great extent. They are as
follows.

A) Muscle size: Muscle size increases mainly due to muscle ability to adapt to
stress. Due to resistance training the size of muscle fibres increases.
Blood supply in the muscles increases. The total amount of proteins increases
which is essential for muscle growth.

B) Biochemical changes in muscles:

(i) Aerobic changes: Myocin content increases. Oxydation of carbohydrates and
fats increases. Amount of mitochondria increases thus more muscular force is
produced.

(i) Anaerobic changes: ATP+PC system capacity increases thereby more energy
is released. Glycolytic capacity also increases as a result of training.

C) Body composition changes: There can be significant losses of relative and
absolute body fat. Fat free weight or muscle mass increases significantly. After
training flexibility increases which plays an important role in physical activities
to enhance the performance and prevent muscular injury.

D). Muscle coordination: Muscle coordination increases when doing exercises
which require skill and technique e.g.: dribbling the ball.

E). Blood supply to muscles: Blood supply to muscles increases due to long-
term exercise by that improving delivery of various nutrients, minerals and
vitamins to muscles and making them more effective and faster at regenerating
after injury or workout.



F. More energy and oxygen. Exercise Blood flow can increase by up to 25
times because muscle requires more energy and oxygen to work.

G. Strength of ligaments and tendons: Exercises improve muscle temperature
to improve strength of ligaments and tendons.

H. Improve muscle flexibility: Increase in size and number of mitochondria
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Qn: 29 (OR) Write causes, symptoms and treatment of Sprain.

Answer:



Sprains: A sprain is a stretching or tearing of ligaments — the tough bands of
fibrous tissue that connect two bones together in your joints. A sprain happens
when a ligament stretches too much or tears. Ligaments connect bones and
stabilize joints. These injuries can be mild or severe, and they’re common in
your ankle, knee and wrist.

Causes: Sprains are caused when a joint is forced to move into an unnatural
position. For example, "twisting" one's ankle causes a sprain to the ligaments
around the ankle

Symptoms: Symptoms of sprains may vary and depend on the severity of the
sprain. These may include:

o pain

« swelling

« bruising

« instability

« Loss of the ability to move and use the joint.

Treatment for sprains
Suggestions for immediate treatment of acute sprains include:

« Stop your activity.

« Rest the injured area.

« Puticepacks on the area for 20 minutes every 2 waking hours, separated
from the skin by wet towelling.

« Compress or bandage the injured site firmly, extending the wrapping from
below to above.

. Elevate (raise) the injured area above heart height whenever practical.

« Avoid heat, running and direct, firm massage of the affected area in the
first 72 hours after the injury, as this can increase swelling.

. If symptoms get worse in the first 24 hours, see your doctor for further
medical investigation.
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QN.30: What is meant by Circuit Training? Explain its importance in sports.
Answer: Circuit training: circuit training was developed by R.E. Morgan and

G.T. Anderson in 1953 at the University of Leeds in England.It is a combination
of six or more physical activities or exercises. They are performed one after the
other, often with a small rest period in between.One full circuit is when all of the
chosen exercises have been performed once. It's a great way to exercise the
whole body, and make fitness fun! An exercise circuit’ is one completion of all



prescribed exercise in the programme. When a circuit is complete, one begins
the first exercise again for the new circuit. Circuit training is an excellent way to
improve mobility, strength and stamina. Generally, there will be 8-10 exercises
per circuit, although this number may fluctuate depending on the period. One
can do a certain number of repetitions for each task (8-20 reps) or can set a
time for each exercise (30-60 seconds per exercise).

Benefits of circuit training include:

—_—

. Improvements in cardiovascular fitness

. Improvements in muscular endurance

. Increased social interaction during a workout
. It doesn’t take a lot of time

. Improvements in muscular strength

. Reduced risk of diseases, better sleep, etc.

. It trains the entire body

. You can do it without equipment

O 00 N o0 U1 M W DN

. It can help lower blood pressure and cholesterol
10. It improves anaerobic fitness
11. It adds training variety and prevents boredom

12 It can help with weight loss
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What do you mean by Diabetes? Discuss the procedure, benefits and
Contraindications of Bhujangasana.
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Answer 30 (OR) : Diabetes:- Diabetes is a serious condition where your blood
glucose level is too high. It can happen when your body doesn't produce
enough insulin or the insulin it produces isn't effective. Or, when your body can't
produce any insulin at all. With diabetes, your body either doesn't make enough
insulin or can't use it as well as it should. Diabetes is a chronic (long-lasting)
health condition that affects how your body turns food into energy. Your body
breaks down most of the food you eat into sugar (glucose) and releases it into
your bloodstream.

Bhujangasana:

The meaning of Bhujang is cobra and asana means yoga pose. Bhujangasana
is the stretching yoga exercise of the front torso and the spine. Bhujangasana is
the final stage when the cobra is ready to attack its prey by raising its hood;
hence the name IS cobra pose.

Procedure:

Lie down on the stomach by keeping legs together.

Put palms besides shoulder and the head should rest on the ground.

With inhaling raise head up to navel region and try to see the roof.

Maintain the position till 10 to 60 seconds with steadily inhaling and exhaling.
Come to the original position slowly with deep exhalation.

Advantages:

It helps to strengthen up the spine and relieves backache.

Helps in improving the efficiency of the kidneys.

It is good for digestion. It gives a good massage to the organs of abdominal
region such as stomach, pancreas, liver and gallbladder.

It is helpful in treating of many digestion relation conditions such as
constipation, indigestion, etc.

It is beneficial against slipped disc or sciatica.



6. It regulates thyroid gland thus helps to maintain good health.
7. It improves lung capacity: The cobra pose helps to expand the chest thus
beneficial for breathing related problems.

COMPLETE




